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( Economic Development and Policy in India—II )

“Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions : 1x10=10
SO 2T Ted fon ;- |

(a) Define Green Revolution.

i e e o 1

(b) What is meant by Balance of Trade?
s SRRy A 1 2
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(c

(d

(e)

(9)

(2)

In which year did India become a
member of WTO?

@ 57e SIe¥ WTOF 575 C2fRet 2

Define land reforms.

it TR e o o

What is organic farming?

sRe IR B2

Define agricultural marketing.
iR Rt vigea foran |

What is Zamindari system?

. st 2w 2

(h)

)
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Give one example of visible item of
trade.

S PO TR o1 Tzl T |

State a feature of public sector of
India.

SRS AT 367 b1 CIfBT TeEy I

( Continued )

(3)

() What is the full form of NABARD?
NABARDR =9 Soicb1 & 2

Answer the following questions : 2x5=10
o] PART e A

(a) State two functions of NITI Aayog.
NITI SCHoR 901 ¥R Scad 40 |

(b) How does Balance of Trade differ from
Balance of Payments?
TR ST F 4RI EREAR SHOR o[l
AL ?

() Give two merits of Foreign Direct
Investment.

i erors RfvcE 1 R o

(d) Mention two problems of céttage
industries in India.

SRS B STAR o1 SR BTEL 0 |

(¢) Mention two sources of " agricultural
credit in India.

SIS IR 41 o1 B A T T
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(4) (5)

3. Answer any four of the following questions : fe) State the basic characteristics of
} 5x4=20 industrial sector in India.
Torq 2fead R e sifRere e fr
ey ST Yoy (Mfe aIREPER TEw
Bl

(a) Distinguish between Foreign Direct
Investment and Foreign Portfolio

Investment. () How does land reforms affect
Qe s Rfa s ot < 6% e’ agriculture?
RivcsR e 1l o | P IKFN B 4709 FRY @[S doR o 2
(bp) What role does NABARD play in
agricultural financing? 4. Answer any four of the following questions :
' : 10x4=40
8% s=RT® NABARD@E 3§ Sfid1 “Iem
z:; . © 2 o 2RRARR R e BiRG Tew o

fa) What is WTO? Explain the objectives
(c) Briefly explain the causes of Balance of ' and role of WTO. 2+8=10

Payments disequilibrium.
WTO &2 WTOI Trmn & Sl <

AR STHeT® SIRNRITOR FRPHR 5 S
AR

(d) What are the causes of low agricultural (b) Define BOP. Explain the different

productivity in Indian agriculture? components of BOP account. 2+8=10
SRe RIS R TR BT IR ' C R TWeR e 1 GWeee e
R RoRY fRfen TemrprR I 90 |
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(e)

(9)
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Explain the role of public sector
industries in India.

ST IEAT e SR PR ToE
I

Write the difference between public
sector and private sector.

Ffsere Y@ oIF IR 18T ToR 1 fai |

Explain the various problems of Indian
agriculture.

oReTR FReFET RiSH TETPTR 0 70 1

What is rural agricultural -credit?
Discuss the various sources and
importance of rural credit for
agriculture in India. 2+8=10

g IR 99 7 oot IR© 4w IR 1"
Rien SR wIF W 999 SCEAs 411

Briefly discuss the role of financial
institutions in the growth of agricultural
sector.

IR v Rere R afobme sfier o3
STl 4

( Continued )
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(7)

(h) Explain the role of foreign direct
investment in a developing country like
India. -

TS WA CHEAE (PTS AOr® (I
Rivcem o 3 411
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